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M AT ALY A3t
el CAl Foie hM (ol el)
SN HE - SR(B) - MRAY - BES ol arey o HI D2
FA S ANt 16,341,250 16,443,877 A102,627
s 1,400,000
J| 4,000,000
= 140,000
Al 10,801,250
TN L35 16,279,405 16,358,516 AT79,111
s 1,400,000
J| 4,000,000
& 140,000
Al 10,739,405
Sa F=HEd e 6,260,255 2,627,916 3,632,339
s 1,400,000
= 140,000
Al 4,720,255
RI2EH F=HESZ M ALY 2,849,680 2,612,216 237,464
s 1,400,000
& 140,000
Al 1,309,680
101 el24dl 9,200 8,216 984
10 JIZtHI22XsE= 9,200 8,216 984
O FHEZMEAY SAAE ZAA 9,200
e Jlza 36,3703 * 1H * 5 » 46=F 8,366




A RSN
M AN 2435t

el CAl Foie hM (ol Mel)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
o A28 Z 834
— AUHEE(HZ,H3, 08 &) 8,366,000& * 9.86/100 825
- LoEIIRYEHE 204,967& * 4.05/100 9
201 LEr2E| 8,800 4,000 4,800
01 AtSR2teid] 8,800 4,000 4,800
O =28+ 8,800
o FHEEIMEAYE B35 oY 100,000& * 10 * 43| 4,000
o HE=HE I2A3e 4 100,000& * 29 * 243| 4,800
301 LetEasg 31,680 0 31,680
12 JIEt2A3 31,680 0 31,680
O HESHME FHSAMEAME AIERA(0IH2)XHE HEX B+
2,000,000& * 1& » 123 24,000
O HEEME FHSIMAAMY AIERAH(01H2) 2 NN E=
320,000& » 1% = 243 7,680
401 Al&HIZLS0HYI 2,800,000 2,600,000 200,000
s 1,400,000
= 140,000
Al 1,260,000
01 Al&HI 2,789,920 2,590,640 199,280
O HR2EH =HEEHLALS 2,800,000,000& * 99.64/100 2,789,920
s 1,400,000
= 140,000
Al 1,249,920
03 AR 10,080 9,360 720
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el CAl Foie hM (ol Mel)
SN HE - SR(B) - MRAY - BES ol arey o HI D2

O HM2HH =HEEIHE AL 2,800,000,000& = 0.36/100 10,080
22 FHEAMNEAY 400,000 0 400,000
401 Al HIZ2OHYI 400,000 0 400,000
01 Al&HI 397,120 0 397,120

O 222 =HSZHEAY AU SAIHEEEZOHE S A 400,000,000& * 99.28/100 397,120
03 Al&=0HYI 2,880 0 2,880

O 22 FHEZEIMEAIS A2 400,000,000& * 0.72/100 2,880
T MEHF(SAITHEY]) AL 10,575 15,700 Ab,125
202 04dl 10,575 11,700 A1,125
01 =3LHAbI 10,575 11,700 21,125

O FTHELSAMGEN [HE SHIXNIARE SLPHLE 75,000& * 2H * 32 * 83 3,600

O ASAEHESAIY QLRI H2(22HEXF &2 75,0002 * 2% » 32 « 83 3,600

O FZHEHSINY H2FA g =8 75,000& * 3H * 3 53] 3,375
O2X+ &332 Hel =& 3A 3,000,000 0 3,000,000
401 Al&BIYL RG] 3,000,000 0 3,000,000
01 Al&HI 2,944,800 0 2,944,800

O H2A+ 2342 Hel =43At 3,000,000,000& * 98.16/100 2,944,800
02 22| 44,400 0 44,400

O 22X+ 232 Hel =& 3At 3,000,000,000& = 1.48/100 44,400
03 Al&=0HYI 10,800 0 10,800

O H2X+ 232 Hel =4 3At 3,000,000,000& = 0.36/100 10,800
Ol=dlZE &4 8,032,375 13,730,600 25,698,225

4,000,000
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el Ol=4a 2y X4 (&2 &)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2

Ol=dlZdd &4 Al 4,032,375
Ol=dZE ZEESA 8,032,375 13,730,600 25,698,225

J| 4,000,000

Al 4,032,375
201 Ler2d 23,375 20,700 2,675
01 AtR22H 23,375 20,700 2,675

O 28+ 23,375

o JIZ24H Jl=A3s 9,000

- dlog 150,000& * 20F * 23| 6,000

- W&l 75,0003 * 208 = 23] 3,000

o JIZ24H EIRAS 9,875

- poxg 150,000& * 35F * 13 5,250

- uSH| 75,0002 * 352 * 13 2,625

- EotEa 2z 2,000,000& * 12/ 2,000

o MAIEH fAHE 4,500

- pog 150,000& * 20 * 13 3,000

- W& 75,000% * 20 = 13 1,500
202 O4d| 9,000 9,900 2900
01 S| 9,000 9,900 A900

O 0l=dBEEE =2 R Y= 75,0008 * 3F * 42 » 103 9,000
401 Al&HIZLS0HYI 8,000,000 13,700,000 25,700,000

Il 4,000,000

Al 4,000,000
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=R Ol=dlZd =4 (et &)
S - B SR(S0) - MRAEY - BaS Of o o HIDS
01 Al&HI 7,598,400 13,308,800 45,710,400
O Ol=dlZd =dSA 8,000,000,000& * 94.98/100 7,598,400
Jl 4,000,000
Al 3,598,400
02 Zeldl 383,200 383,200 0
O Ol &S Sd3A HP el 8,000,000,000& = 4.79/100 383,200
03 AlZ=Uidl 18,400 8,000 10,400
O Ol=dldd ZdEA 8,000,000,000& = 0.23/100 18,400
Cy o2y #Exl 1,986,775 0 1,986,775
2 2 X4 2 86,775 0 86,775
201 £et2dH] 4,750 0 4,750
01 A2ty 4,750 0 4,750
O ggt=EH| 2,500
o &4 JIEH SFEY #2248 2N NH 50,0003 * 50042~ 2,500
O 28+ 2,250
o Mg 150,000& * 58 = 23l 1,500
o wSH| 75,0002 * 53 « 23| 750
202 O4H 2,025 0 2,025
01 =LHoiI 2,025 0 2,025
O &8 Jiz28 SZEH giized U2 =8 75,0008 * 3% * 32 * 33 2,025
301 Let2d=s 80,000 0 80,000
12 JIEt24&= 80,000 0 80,000
O =4 29 23 3Hl 2H2AE ANds 80,000
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SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2

o FRsd 1EHl + 5,000,000 5,000

o f £ 4 2EHXl + 4,000,000& 8,000

o & d 4 5&AI « 3,000,000 15,000

o & It & 26EHHl * 2,000,000 52,000
XSz A 1,900,000 0 1,900,000
403 RXISHMSKE01H 1,900,000 0 1,900,000
02 SJI2SOICHSHHEAIZ I 1,900,000 0 1,900,000

O &dd XN=sALY 1,900,000

o Ol&zdl HE =8 500,000,000& * 14 500,000

o &KX+ 400,000,000& * 14! 400,000

o HIAHE~AMEL~FHIR 22 1,000,000,000& * 14 1,000,000
SHEY2A AL (AN D) 61,845 85,361 223,516
I A| 3,000 26,741 A23,741
IR A| 3,000 26,741 A23,741
203 PR=& 3,000 3,000 0
04 REA2IHRFA 3,000 3,000 0

O ZANLI(H 250,000& * 12& 3,000
JI23&4l 58,845 58,620 225
Jl=2ZHl 58,845 58,620 225
201 et 52,300 52,300 0
01 AtR22H| 52,300 52,300 0

O get=ZH| SHA 37,100,000& * 14l 37,100

O Sgtl SUA 4 15,200,000& = 14l 15,200
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202 O4dl 6,545 6,320
01 S| 6,545 6,320

& 6,545,000& * 14l 6,545
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